Section 5.1: Friday, October 25, 2013 Integral Exponents and Scientific Notation

exponent that is an integer

notation:

note: for this section, we will assume that all variables in the base are non-zero

positive exponents:

regative expenents:

$$\frac{1}{x^{-5}} = \frac{1}{x^{5}}$$

$$\frac{1}{x^{-5}} = \frac{b}{a}$$

$$\left(\frac{a}{b}\right)^{-1} = \frac{b}{a}$$

$$\left(\frac{a}{b}\right)^{3} = \left(\frac{b}{a}\right)^{3} = \frac{b^{3}}{a^{3}}$$

evaluet:

$$3^{-3} = \frac{1}{3^{3}} = \frac{1}{27}$$

$$\frac{1}{4^{-2}} = \frac{4^{3}}{4^{3}} = \frac{16}{9}$$

$$-5^{-2} = \frac{-1}{5^{3}} = \frac{1}{25} \quad \alpha = \frac{1}{25}$$

the product rule:

$$\times^3 \cdot \times^3 = (\times \cdot \times) \cdot (\times \cdot \times \cdot \times) = \times^5$$

in general:

50
$$2^{5} \cdot 2^{7} = 2^{12}$$

 $2^{3} \cdot 3^{3} = 2^{3} \cdot 3^{3}$

examples:

$$3^{15} \cdot 3^{-3} = 3^{12}$$

$$\frac{1}{3}\omega^{-4}(-6\omega^{-3}) = 3\omega^{-4+(-2)}$$

$$= 3\omega^{-4} \qquad \alpha \qquad \frac{3}{\omega^{4}}$$

$$= 3\omega^{-4} \qquad \alpha \qquad \frac{3}{\omega^$$

rewrite
$$\frac{y^{-10}}{x^6}$$
 as either $x^{-6}y^{-10}$ or $\frac{1}{x^6y^{-10}}$

rewr.te
$$\frac{1}{y^{-10}}$$
 as $y^{(c)}$

Zoro exponents:

$$a^{n} = a^{n}$$

$$a^{n} \cdot a^{n} = a^{n} \cdot a^{-n}$$

$$a^{n+(-n)} = \frac{a^{n}}{a^{n}}$$

$$a^{0} = 1$$

example: welvate

$$157^{\circ} - \left(\frac{1}{3}\right)^{\circ} + \left(104\right)^{\circ} - \left(\frac{3}{17}\right)^{\circ} + 5^{\circ} = 1$$

quotient rule:

$$\frac{a^m}{a^n} = a^{m-n}$$

why? (disressian)

 $\frac{a^m}{a^n} = a^m \cdot a^{-n}$
 $= a^m \cdot a^{-n}$
 $= a^m \cdot a^{-n}$

examples:
$$\frac{2^{7}}{2^{5}}$$
 = 2^{3} : 4

$$\frac{-3a^{-3}}{-31a^{-4}} = \frac{-3}{-24} \cdot \frac{a^{7}}{a^{3}} = \frac{a}{7}$$

$$= \frac{a^{-3} - (-4)}{7} = \frac{a^{7}}{7} = \frac{a}{7}$$

$$= \frac{a^{-3}a^{4}}{7} = \frac{a}{7}$$

$$\frac{2r^{-3}t^{-1}}{10r^{5}t^{2}t^{-3}} = \frac{r^{-3-5}t^{-1}}{5t^{-1}}$$

$$= \frac{r^{-3}-5}{5t^{-1}}$$

energote
$$(3^{-1} + 3^{-1})^{-2} = (\frac{1}{1} + \frac{3}{1})^{-2}$$

scientific notation:

waluste

$$\frac{(6000)(0.00004)}{(30000)(0.000)} = \frac{6\times10^3 \cdot 4\times10^{-5}}{3\times10^4 \cdot 2\times10^{-3}}$$

$$= 4 \times 10^{-3}$$

$$= 4 \times 10^{-3}$$